Copyright Lappset Group Ltd

% LAPPSET.

231005

DATE:

17.3.2020

1(10)

(1) 702286

65x65

(2) 708380

%

43x200x1700

PCS

(3) 708381 [pes|(4) 708390 |pes
j 5| 1]
43x200x1700| | 630x1640
(5) 708401 |pes|(6) 708403 |pcs|
2] i o
940x1640 | | ]
(7) 708427 |pes|(8) 708531 |pes|
% i 2] / H
800x940 | | N
(9) 900240 [pcs|(i9) 901302 [Pes|
3 259
@8x70 | | @20/105 | |
(1)) 902232 |pes|i2) 902532 |Pes|
80 32

5~

M10x55 @10x60
(13 903295 |pcs|(14) 904336 |pes|
52] 59|
o f
o525 | | w@exe0 | |
(19 905090 |[pes(ip) 905115 [Pcs|
183 183
g5 | | @30 | |




Copyright Lappset Group Ltd

% LAPPSET.

231005

DATE: 17.3.2020 2(10)
(17) 906746 |pcs|(i8) 907727 |pes
4
&
Lsize | | wMioxs0 | |
909091 [pcs|@0) 909132 [pes|
39 16
M8x65 | | Mi2x280
(2) 909248 |pes|29) 909506 |pes
| 16 il
S
= e
Mz | | e3sas |
(23 909633 |pes|24) 909637 |pes
19 &
me | | wmo | ]
25 909900 |[pes(26) 909990 |pcs|
1 16
(27) 910482 |pcs|29) 910479 |pes
! 1
DET 8 |+~ =
910481 |pcs|G0) 910484 |pes|
6 7
QF:?‘—-?”%’
@) 910111 |pes|3 910112 |pes
EI SN EE
= e




Copyright Lappset Group Ltd

% LAPPSET.

231005

DATE:  17.3.2020 3(10)
33 910113 980161 | |
ﬂ 8| 59

M10

39 980165

980152 |pcs

32| 96|

O
024/13x2,5 | | @24/8.4 | |
37 900859 | |
24]
M8x90 | |
(39 909850 |pes|39) 909873 [ecs|
40 16

7>

M8x40




% LAPPSET. 231005

DATE: 17.3.2020 4(10)

Copyright Lappset Group Ltd

PCS PCS

Make sure that all
arches are evenly spaced.
Measure from different
heights to make sure !

4790

4590

+2760

+0

—500

CONCRETE K30
400x400x500

Hole @87V 75

(" Reinforcement steels
@8 #100




% LAPPSET. 231005

DATE: 17.3.2020 5(10)

Upot ikd @77 13.5

.po usreika Ldpireikd @12

Sinkhole @7 v 13.5 Hole @12
Tappi ®®
Pin )°
Otepala o

. 0

Grip ~ \\_
\

EN/AS Impact Area 44.9 m2(Outside of Planetarium) 1:100
———— Falling Space 61.3 m2
Max Falling Height 2400 mm

4820 0 5

-~

///

4820
9020

Ve
//

A
_
Z
,
/
:
fo2100 A
Y
\
\
‘ .
\ .
.S
Za
;';. o o

9020

Copyright Lappset Group Ltd
/
\




% LAPPSET.

231005

DATE:  17.3.2020 6(10)
DET 1 DET 2 {\K//ﬂ//J
¢/ @8x70
F5x60 &§$@<¢ 900240
980100 . ]
%
o2
2

/%
J10x60
902532
Fix anchors as a last
phase of installation

Copyright 1998 Lappset Group Ltd

DET 3

900240

DET 4

@30
905115

D045

905090
M12x280

909132

024 /13

909248 980165




% LAPPSET.

231005

DATE:  17.3.2020 7(10)
DET 5 DET 6
final tightening only when the
frame is fully assembled
024/8.4
980152

Copyright 1998 Lappset Group Ltd

909633 gaxs
DET 7 OET 8
M8
909633 28x70
900240
_—7
o

MBx65
909091




% LAPPSET. 231005

DATE:  17.3.2020 8(10)

DET 9

©08x70
900240

4
Bo5x25

903295

Copyright 1998 Lappset Group Ltd

DET 10
M8x25

909850

M8x40

‘///////909873

909850 ©20/10.5

@ 901502
\\\\\\\\\\\\MS

909633




Copyright 1998 Lappset Group Ltd

% LAPPSET. 231005

DATE:  17.3.2020 9(10)
DET 11
PLATES
—first install the
bottom edge AN
@20/10.5
901302
\ M10
X 909637
M10x40
30
905115 B45 907727
905090
DET 12 /
) —third install all
—second install steel angles
the top edge =
|
=
— M8x25
909850
©20/10.5

(o




% LAPPSET. 231005
DATE: 17.3.2020 10(10)

Copyright 1998 Lappset Group Ltd

7) The Orientation of the panels is important to show the correct star positions. Please see below a plan of
the panels and their location to the play frame. The plan below shows the panels on the inside.

START AT THESE TWO
PANELS THE ENTRY
PANELS




11.5.2017

LAPPs

g ot
ity Mﬂnvmxm

o

123 po
RS oy
Tierg ,;“*"

o
Nz

LAp
gg:lgm?? ET Groy t
FINLANS VANIE d

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.
- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTDP.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 |

lappset@lappset.com | www.lappset.com





